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M.Sec. (Semester=11) Examination, June-2025
( Backlog )
BOTANY
( Plant l’hysiology )
Time Allowed : Three Hours

Maximum Marks : 70
Note : Question paper is divided into four sections. Attempt

questions of all four sections as per direction.

Distribution of marks is given in each section.
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SECTION-A | @Us—J

( Objective Type Questions )
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Note : Attempt any ten questions. Each question carries 1 mark.

[10x1=10]
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1. (i)

(i)
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In guard cells, when sugar is converted into

starch, the stomatal pore :
(a) open partially

(b) closed completely
(c) open completely

(d) remain unchanged
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If a pressure greater than atmospheric pressure

is applied to a solution, its water potential :

(2)
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(a) increases
(b) decreases
(c) remains the same

(d) becomes Zero
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What percent of water reaching them is used by

leaves in photosynthesis?

(a) Less than 1%

(b)  About5%

(c) 5% in warm and 10% in cold condition

(d) About 50%
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(iv)
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Most abundant solute in the phloem sap is ;
(a) Potassium ions

(_b) Sucrose

(c) Glucose

(d)  Starch 4
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Membrane proteins are for :
(@)  Uphilltransport

(b) Downhill transport

(c) Both Uphill as well as Downhill transport
(d) For facilitated diffusion only
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Which of the following is a micro-nutrient present

in soil, essential for plant growth ?
(a) Sulphur

(b) Iron

(c) Calcium

(d) . Magnesium
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(vii)
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The sub-apical elongation in plants is induced
by :

(a)  Auxins
(b) . Gibberelins
(c)  Cytokinins

(d)  Ethylene
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(vii)  LOV Domain of phototropin is present in its :

(a) C-terminus
(b) N-terminus
(c) Both C and N terminus

(d) Neither C nor N terminus
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(ix)  Which of the following mediates phytochrome
dimerization?
(a) PRD
(b) Lov
(c) GAF
(d)  PHY
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(b) LOV
(c) GAF
(d) PHY

(x) Oxidative phosphorylation usually refers to :
(a) Anaerobic production of ATP
(b) Citric acid cycle production of ATP
(c) Alcoholic fermentation
(d) None of the above
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(xi)  Acetyl CoA forms a 6-C compound after

combining with ;

(@)
(b)
(c)
(d)

Oxalosuccinic acid
Pyruvic acid

Citric acid

Oxaloacetic acid
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(xii)  Protons accumulate on the

mitochondria.
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Inner membrane
Inter membraneous space
Quter membrane

None of the above

(9)
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SECTION-B / gvs-q
( Very Short Answer Type Questions )
(o @y Swld 9T )

Note: Attempt any five questions. Each question carries 2

marks.(Word limit 25-30 words) : [5x2=10]
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2. [0} What is water potential? .
i fow @ &2

(ii) What is Z-scheme? Define.’
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(i)

(iv)

v

(vi)

(vii)

What is 'endogenous clock'?
‘I qgy @7
What is 'ABA'?
'ABA" T &7
What is CAM cycle?
CAM o5 &7 &7
What is QuantaSome?
TN FT 87
Whatis Florigen?
AR T 87
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( Short Answer Type Questions )

( @ Swlg ne )

Note: Attémpt any five questions. Each question carries 4
marks.(Word limit 250 words) [5%x4=20]
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(i)

(iii)

(iv)

V)

(vi)

(vii)
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Describe the mechanism of water and minera)

absorptionin plant.

it 7 et T 3 ST Ty
Describe EMP pathway.
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Describe the molecular mechanism of

phytochrome action.
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Describe the flowering process.
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Describe Hill's reaction.
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Describe phloem transport mechanism.
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Write a short essay on Auxins.
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(Long Answer Type Questions )

( drdewiim g )

Note: Attempt any three questions. Each question carries 10
marks.(Word limit 500 words) [3x10=30]
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4. @)

(ﬁ)

(iii)

(iv)

Describe the phytochrome and cryptochrome.
Describe the Blackmann reaction.
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Describe ETS.

ETS & a9 Higl

Describe photorespiration.
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(V)

Describe signal transduction and gene expression

in plants.
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